
Additional & Separate Physics ISA 2014-15
Thermistors

PART 2



QUESTION 1 FROM THE PHYSICS ISA SUMMER 2013

EXAMPLE ANSWER
VALID STATEMENT: THE  AFFECTS THE RESISTANCE OF 
THE THERMISTOR.
PATTERN: AS  INCREASES; THE RESISTANCE OF THE 
THERMISTOR DECREASES, RESISTANCE IS INVERSELY 
PROPORTIONAL TO .
IDENTIFYING RESULTS: GIVE TWO EXAMPLES, ONE HIGH 
AND ONE LOW E.G., WHEN TEMPERATURE AT 20°C THE 
RESISTANCE WAS 100Ω; WHEN TEMPERATURE AT 80°C THE 
RESISTANCE WAS 20Ω– BUT USE YOUR DATA.



QUESTION 1 FROM THE PHYSICS ISA SUMMER 2013

EXAMPLE ANSWER:
THERE ARE NO ANOMALOUS RESULTS
BECAUSE ALL THE DATA IS CLOSE TO THE LINE OF BEST FIT
(QUOTE AT LEAST TWO VALUES TO CONFIRM THIS)
OR: THERE WERE ANOMALOUS RESULTS, BECAUSE SOME 
OF THE DATA WAS NOT CLOSE TO THE LINE OF BEST FIT 
(QUOTE VALUES TO CONFIRM THIS)



QUESTION 1 FROM THE PHYSICS ISA SUMMER 2013

INDEPENDENT VARIABLE WRITTEN ON CRF

MIN VALUE with UNIT MAX VALUE with UNIT

EXAMPLE ANSWER:
THIS WAS A SUITABLE RANGE BECAUSE I SAW A TREND. 
THIS IS CONFIRMED BY MY RESULTS (QUOTE AT LEAST 
TWO VALUES – ONE BIG, ONE SMALL)



• rl

For your experiment, what interval did you use and why?

E.g., 10°C and it was used to get a suitable pattern, 
allowing for noticeable changes which were not too great, 
following the pattern.



What is meant by a “sketch” graph?

• What do you notice about the two graphs 
below?

SKETCH GRAPH – JUST A “SKETCH”



A question from Physics ISA 2011

DEPENDENT 
VARIABLE

INDEPENDENT 
VARIABLE



QUESTION 2 FROM THE PHYSICS ISA SUMMER 2013





Which curve from the graph above has the greatest change from 0 to 0.2? 
How do you know?
- The Green line (a=8) because it has the steepest gradient, or greatest 

drop from 0 to 0.2 (i.e. 1.00 to 0.20).
- This would be applied in a useful context to show sudden changes over 

a small range. Compare this with the blue line (a=3) the change is not 
so great and so this would be a “less sensitive” change.



A question from Physics ISA 2011
Context: THERMOSTATS



A question from Physics ISA 2011
Context: THERMOSTATS

(the results will show)as the temperature gets higher 
the resistance decreases. This would be useful as 
thermistors are a useful component that can be used 
in thermostat controls and this therefore could be 
wired up to a relay circuit allowing for automatic 
controls to work, controlling the heating and thus 
temperature in a house.
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